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CB _ AC_CA_BCAC__A

(1) CBCBC
(2) CACBC
(3) CBCBA
(4) CCBBC

Six boys M, N, O, P, Qand R are sitting in a
circle facing the centre. ‘M’ and‘Q’ are sitting
together and also ‘P’ and ‘R’ i Sitting'
together. ‘R’ is sitting to the Joft of Q. There
are two boys sitting between /)y and 'Q' N
is sitting left to ‘0. Who is sy ‘

‘P’ and ‘O’ ? ginbetween
(1) N

2) M

B) R

4) Q

Five girlsR, P, S, Tananre -

facing towards N !
g Orth but not ; 8lny row

der. ‘I is sitti

order. ™ 8 Sltting o gy, lef op . 1€ 53
sitting to the right of T, Of ‘R g e
sitting to the left of /g wnd loft of “pr Qis
middle ? Mg g * R is
(1) R in the
(2) Q

(3 P

(4) S
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CB_AC_CA:_BCAC__A

(1) CBCBC
(2) CACBC
(3) CBCBA
(4) CCBBC
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Samir walks 5 meters towards East. He then
turns towards his right and walks 10 meters

more. After that he“turns right again and
Then he takes

|
|
|
|
|

4. TER g H AR 5 HX e 7 T ST

3R g § iR 10 HI = §) -
fore &7 T AR TS F S 10 et ey 3,
firt T faadia 9ol § 3R 5 Mt s 3 apg

walks around 10; metels
opposite turn and walks 5 meters. Which g @ T fawm i iR 72
direction is he facmg -now ?
(1) North (1) S
(2) East @
(3) South (3) <&
(4) West (4) HfT=H

If triangle represents men, rectangle
represents educated, circle represents
employed and square, represents married then

identify the numb that represents the men
1d employed but not

who are educatec

married.

Ife e gl I ST 5, ST Rt < @i
¥ g HrRa @I g § AR o foenfedr e
m%ﬁwmﬁmﬁmﬁ:ﬂmﬁ
T

78
12 15
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6.

Two statements are given below and they are
labelled as Assertion (A) and Reason (R).
Assertion (A) : Organic matter is
important for crops.
Reason (R) :  Organic matter liberates

minerals in the soil.
Select correct answer with the help of code :
(1) Both (A) and (R) are true and (R) is
correct explanation of (A).
(2)  Both (A) and (R) are true but (R) is not
the correct explanation of (A).
(3)  (A) is true but (R) is false.
(4)  (A) is false but (R) is true.

7.  Given below is a question followed by two
statements numbered I and IT, each
containing some information. Decide which
of the statement(s) is/are sufficient to answer
the question ?

What is the difference in the age of ‘F’ and

‘E’?

Statement I: ‘E’ is 10 years younger than

T8

Statement II: ‘T is 5 years older than ‘F’,

(1) The statement I alone is sufficient to
answer the question whjile the
statement II alone is not sufficient tq
answer the question,

(2)  The statement II alone is sufficient tq
answer the question while the data in
statement I alone is not sufficient
answer the question,

(3) Both statements and Iy together i
necessary to answer the question

4 Either the gta nt

Y tatement I1 a] t'em(m ! alone ok
slatcme : (’“@lssufﬁcienl‘to

a
the question, Nswer
A0
i
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A statement showmg relationship between | 8.

different elements IS gwen followed by two g

conclusions, 1 and II. Assuming the

statement to be true, fmd out which of the
conclusions is/are deﬁmtely true.

Statement: F = I%NSG =E<R

Conclusions I :

Il : R>*I

Only conclusion I is true.

LR TS0

)
2)  Only conclusion II is true.

Both conclusions I and II are true.

A~ A~ o~
|S3)
p

4)  Neither conclusion I nor conclusion II g

is true.

g\h.‘

f"“’«\ %
Pointing towards a- gentleman Sonia said,

“His only daughter is the sister of my Son’s
father.” How is the‘gentleman related to

Z‘f;
§‘x,

() Father-m—lax«§W - |

Sonia ?

(1) Husband

(3) Brother

(4) Brother-in-law

R’s father is the only son of ‘B’ and brother of
‘P’. ‘A’ is the daughter of ‘B’ and sister of
‘Q’. How is P related to Q ?

?\k G

(1) Brother

(2) Niece

(3) Nephew s

(4) Sister
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Identify the diagram that best represents the
relationship among acids, bases and
chemicals.

9
QD
&

(1)

(2)

(3)

(4)

Six students of class-X A, B, C, D, E and F
have different heights. ‘D’ is shorter than only
three students. F is taller than A but shorter
than E. Ais taller than D. Bis not the shortest
in the group. Who is the tallest shident ?

(1) B
(2) A
(@) F
(4)

E
==

11.
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13. Two statements are given below, followed by
two conclusions numbered I and II.
Assuming the statements to be true even if
they seem to be at variance from commonly
known facts, decide which of the given
conclusion(s) logically follow(s) from the given
statements.

Statements :

1.  Some tables are chairs.

2. No chair is Almirah.
Conclusions :
I. Some tables are Almirahs.

II. No table is Almirah.

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both conclusions I and II follow.

(4) Either conclusion I or conclusion II

follows.

14. A girl is facing East. She turns 225° in the
anticlockwise direction and then 135° in the
clockwise direction. Which direction is she

facing now ?

(1) West

(2) North

(3) North-West
(4) North-East

15. Select the term that replaces the question
mark (?) and complete the given series.

4M3, 607, 8Q13, ? 12031, 14W43

(1) 10815
(2) 10R21
(3) 10521
(4) 8R15

By
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1) u=m
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3T 3R et i ol a8l |

4M3, 607,8Q13, 72 12031, 14W43
(1) 10S15

(2) 10R21

(3) 10S21

(4) 8R15
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GENERAL AWARENESS / S TRTEal

ildli ari
following wildlife sanctuaries

Which of the in October,

was notified as a tiger reserve
2022 ?

(1)
(2)
)
(4)

Kamlang Tiger Reserve
Satyamangalam Tiger Reserve
Srivilliputhur Megamalai Tiger Reserve

Ranipur Tiger Reserve

What is the World Health Organization
(WHO) norm regarding the Doctor -
Population ratio ?

(1) 1:100
) 1:500

3) 1:1000
(4) 1:2000

A magnet exerting a force on another magnet
is an example of

1)
()
®)
4)

Contact Force
Non-Contact Force
Electrostatic Force

Gravitational Force

As per the Economic Survey of India
2022-23, the maximypm, percentage of schools

in India have, which of the following facilities
according to the 2021-22 statistics

(1) Girls Toilets

(2) Boys Toilets

(3) Libraries

(4) Computers
7
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: 100
: 500
: 1000
: 2000
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€)
(4)

Y
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Whose decision is considered to be final in

disqualification of amember of the Parliament
according to the grounds mentioned in the
Constitution ?

1) The President

(2) The Speaker of the Lok Sabha

(3) The Chief Election Commissioner of
India i
The joint sitting of the Speaker of the
Lok Sabha and the Chairman of the
Rajya Sabha

case a question arises with regard to the g
|
;

(4)

Among the following which planet has the §
Jargest number of moons ?

(1) Mercury
(2) Venus
(3) Mars

(4) Saturn

Which of the following countries won all gold
medals in under - 15 and under - 19
categories in the South Asian Youth Table
Tennis Championship - 2023 ?

(1) Bangladesh
(2) India ’
(3) Maldives

(4) Sri Lanka

Which of the following pairs of the country
and its official currency is/are matched

correctly ?
(@) Bhutan - Ngultrum
(b) Austria - Euro
(c) Ghana - Cedi
(d) Argentina - Real
Choose the correct answer from the codes
below :
(1) Only (@) and (b)
(2) Only (b)
(3 Only (), (b) and (c)
(4) Only (b) and (d)
OF40)]

20.

21.
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(4) Hicient
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g2

(@) e - TeEH
(b) g - 9
O R S
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24.

26.

e

: in
Who amony, the follown

jqtish Rule in
, e Un-British
the book ‘Poverty and

lndia’ which offered a criticism of the British
Rule in India for its cconomic impact ;
()Y A.O. Hume

(2)
3)

(4)

Annie Besant
Badruddin Tyabji

Dadabhai Naoroji

What percentage of the earth’s water is fit

for human use ?
(I) Only 70%
(2) Only 30%
(3) Only 2.7%
(4) Less than 1%

Which of the following Fundamental Right(s)

is/are guaranteed also to the non-citizens by
the Indian Constitution ?

(a)

right to freedom of speech and
expression '

(b)

right to life and personal liberty
(©)

right to assemble peacefully and
without arms

Choose the correct answer from the codes
below :

(1)  Only (a)
Only (b)
Only (a) and (c)
Only (a) and ()

Which of the followin
calorific value ?

(1) Petrol
(2)
(3)
(4)

g fuel hag the highest

Methane
LLPG
Hydrogen

i [%]
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which film won the Acaden{y_‘;l\wa1~d for the
Best Documentary Short ‘Film at the 95!
Academy Awards ? T

The Elephant Whispei%i‘s

An Irish Goodbye
Women Talking

Top Gun

As per the National Education Policy (NEP)
2020, which age group is covered under the
New Pedagogical and Curriculum Structure
of School education ?

(1) 3 to 16 years
(2) 3 to17 years

(3) 3 to 18 years

(4) 4 to 16 years

Among the following states of India which
state has the highest proportion of children
in class I to VII who take paid tuition classes
(in all rural schools) as per the Annual Status
of Education (ASER) 2022 ?

)
(1) Rajasthan By
32
(2) Kerala “‘“’”
(3) Gujarat ¥
A,
(4) West Bengal !a;
# Yo
LA

11
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PART - 111
GENERAL ENGLISH L)
: . Th t wa't's"c’:w’ rking in the ra;
(31 - 35 ) Read the passage given below and { 33. The narrator ;;\;g g Tailwayy
answer the questions that follow. (1)  atrain drgﬁgﬁ"
While engaged in the laying of a new railway (2) an engme&
line, I had a miraculous esca.Pe from an a;vful (3) a guard :m.:m
death. I lived in a small township, but my work lay 4 ik Q‘ﬁ‘r‘“ ot
some twelve miles away, and I had a small tent on (4) a ticket ¢ fig
the works yet I often went to the town on horseback. % \g
On one occasion, an accident happening to | 34. Study the following statements.
my horse, I got a lift into town, hoping that (A) Male ostriches are ferocious by nat
someone might do me a similar favour on my way .
back. But this was not to be, and I made up my (B) To pass through ostrich farms can
mind to do the journey on foot, shortening the dangerous.
distance by taking a cut through the hills which (1). (A) is an opinion and (B) is a fact.
would save me about six miles. 2) (B)isan opinion and (A) is a fact
To takfz tlt1s sh?rtcut, it was necessary to (3) Both (A) ar{dfg(B) are true:
cross an ostrich ‘camp’ or farm. To venture across E‘;:‘%
these camps in the breeding season, especially on (4) Both (A) agd,g(B) are false.
foot, can be dangerous, for during this time the male %3&
birds are extremely ferocioys, 35. Once he had to?trk;\”zel to the town:
) 1
_ § - (1) onfoot , e
31. He generally slept in : 5 %&E
(1) a train coach (2 horsebvgég
(2) a staff quarter (3)  getting a lift
4 1 i
(3) a tented accommodation ( ) on a local train
(4) the waiting room
(36 - 40 ) Complete the sentences given belo‘.
with the help of optj hat follow €3¢
‘T tu . Ptions tha
32. O venture across ap ostrich farm , sentence.
The underlined word ¢ el
an : ec
replaced with ; b COrrectly 6. i{am RS Shyam i
0 come.
dare ‘
@) (1) s N
(2) &0 N
(2) are :
3) travel Q%
) o (3) were .
4) move
*) , (4) have been¥
77 po
LAB-2023 [ v
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g7, 1 the playground to reach the river g 42. Choose the option in which the following
bank. L) words/phrases can be arranged to form a
(1) cutinto correct sentence.
(2) cut away ~- (A) may live
(3) cut through (B) eatso
(4) cut down (C) we
(D) that we

1 (), D) (A) ©
2) (A), (), (B), (D)
(2) blows away 3) (O, (B), (D), (A)

@) (D) (A) ©). (B)
(3) blows over

38. The new phone
(1) blows off

___ £l the competition.

(4) Dblows out 43. Choose the option in which the given
sentence has been changed into passive voice.
39. She when I entered the hall. I wrote a letter. |
(1) has sung g 3 (1) A letter is written by me.
(2) issinging £ % | (2) A letter was written by me.
ek f g (3) A letter has been written by me.
(3) wassinging .
S (4) A letter had been written by me.
(4) have sung g‘%’a :
_ 44. His views do not accord with mine.
40. Ram is sarm § oy that I liked most. .
N ’g“ Which one of the following words is opposite
1) a in meaning to the underlined word ?
(2) an ! (1) agree |
(3) the (2) correspond
(4) no article g (3) clash

; (4) coincide
41. Which of the underlined parts of the

following sentence is incorrect ? ) ] .
& 45: The law will punish whosoever is guilty .
He had hinted that he wants money. :

Which of the following words can replace the

(A) (B) (C) (D) underlined word ?
(1) (B) {’*} (1)  innocent
2) (© ik (2)  culpable
3) (D) - (3)  impudent
(4) (A) Y (4) audacious

. O
L E]%;‘E' (- 13 6
AB-2023 /77 N P
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Vsl b et el S
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PART - IV / 9I¥ T - IV
SUBJECT SPECIFIC KNOWLEDGE | fava fafdre o ‘
61. What is the boiling point of water in degree 6}. feit Qfcaag | I 5 EHWERH%)

Celsius ?
1)
(2)
(3)
(4)

0°C

100°C
273°C
373°C

For a fire caused by short - circuiting of an
electric circuit, what should not be done ?

(1)
(2)
(3)
(4)

Throw water in the area.

Throw dry sand in the area.
Switch off the main electric supply.
Use a fire-extinguisher.

Which of the following is an example of a
flammable liquid ?

(1)
(2)
(3)
(4)

Water
Ethanol
Salt solution

Vinegar

When KMnO, reacts with oxaljc acid

MnOyj is reduced to Mp2+ and C,02- i
. 4

oxidized to CO,. Hence, 5 mL of

KMnQO; is equivalent g .
(1)
(2)
(3)
(4)

0.02 M

10 mL of 0.05 M Oxalic aciq
5 mL of 0,05 Oxalic aciq
2.5 mL of 0.2 OXalic acjq
5 mL of 0.1 M OXalic aciq
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67,
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Assertion (A) :
hydroxide solution, use borosilicate glass (e.g.

For preparing sodium

Pyrex) free of scratches, chips or breaks.

Reason (R) : If you use a different type of |

glass, there is a chance the temperature
change could cause it to shatter.

(1) Both (A) and (R) are true, and (R) is

the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

A plane mirror is arranged horizontally. A
ray of light is incident on its centre from a
fixed source at an angle of 45°. The mirror is
rotated about its centre anticlockwise by 10°.

The reflected ray is rotated by

(1) clockwise, 10°
(2) clockwise, 20°
(3) anti-clockwise, 10°
(4) anti-clockwise, 20°

A sharp image of a distant object is obtained
on a screen by using a convex lens. To
determine the focal length of the lens, you
need to measure the distance between the :

(1) lens and object.
(2) lens and screen.
(3)  object and screen,
(4) both (2) and (3).

mym
82023 7
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|
|
|
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|
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|
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Chlorophyll is a naturally occurring chelate
compound in which the central metal atom

1S :

(1)  copper

(2) magnesium
(3) iron

(4) calcium

What is the standard unit of mass ?-
(1)
)
®3)
(4)

Kilogram
Litre
‘Metre

Second

Potassium permanganate is used for
purifying drinking water, because :
(1)

it is a sterilizing agent.

(2) it dissolves the impurities of water.
(3) itis a reducing agent.
(4) itis an oxidizing agent.

What is the function of a stopwatch in a
physics experiment ?

(1) To measure temperature,
(2) To determine volume,

(3) To record time intervals,
(4) To analyze data patterns,

The main buffer system of the human blood
is:

(1) H2C03 - HCOE

2) HZCOS — CO5”

@) NHQCON H,- NH,CoNy +
1

;'%?
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74.

e

What are the essential safety;i'equi1~e111e11ts of
a science laboratory ?

(A) Eye-wash station. ‘

(B) Proper storage space for ¢hemicals.
(C) At least two entran‘ce/ir_; gates.

(D) Electrical sockets near (ch ink.

(1) (B)and (Qonly ¢

@ (A)and (B) only

() (A), (B) and (C) only

@) (A), (O and (D) only
An ammeter has 20 divisions between

Mark 0 and Mark 2 on its scale. The least
count of the ammeter is :

(1) 0.02 A
2) 0.01A
(3) 02A
(4 O01A e
5. In fireworks, the green flax_étgg;és produced
because of : | %ﬁ '?g
(1) sodium
(2) barium
(3) mercury .
(4) potassium
. When an iron nail gets rusted, iron oxide is
formed : | |
(1) withoutany changé in fhe Weight of the
nail. g‘”g‘z
(2)  with decrease in the weight of the nail.
(3)  with increase in the wéigh;t of the nail.
(4)  without any change in EOTEQUI or weight
of the nail. !*M
lAB.2024 E’%% )
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Which laboratory apparatus is used for
measuring volume of liquids ?

(1) Beaker

(2)  Graduated cylinder

(3)  Test tube

(4)  Bunsen burner

78.  What are soaps ?

(1)  Salts of silicates,

(2)  Mixtures of glycerol and alcohols,

(3)  Sodium or potassium salts of heavier
fatty acids.

(4)  Esters of heavy fatty acids.

79. Which of the following statements best
explains why only sulphuric acid is
commonly used in redox reactions, while HC]
and HNO; are not preferred ?

(1)  Sulphuric acid is g strong reducing
agent, making it jdea] for redox
reactions.

(2) HCI and HNO, are not Suitable for
redox reactions dye o their weak acid
properties, ‘

(3) Sulphuric acig acts as both an
oxid'iz'ing and reducing agent,
providing Versatility in reqoy reactions.

(4) HCland HNO, aro pygyy oo
acids that may interfere With the
desired redox Teaction,

AD|
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What are the duties of a lab attendant ? 80.
0. —

() Toassist the teacher w1th experunents

(B) To maintain the lab equ1pment and
supplies. R

€
students.

Choose the correct answer :¢

(1) (B) only

(2) (A)and (B) only

3) (A) and (C) only

@A) () and Q)

g § oS
. The rate at which a solid d1ssol§§s cannot be | 81.
increased by : R\j :

(1) Pulverizing or grmdmg up ‘the solid to
increase the surface aréa”‘bf the sohd in
contact with the liquid¥™

£ &i’f”"

(2) Heating the solvent to increase the rate
of solution because the molecules of
both the solvent and the solute will
move faster.

(3) Stirring vigorously.

(4) Adding more of the solid.

2. What does the term “pH” geang? 4 82.
wshy &
(1)  Electrical conductivity{ N
(2)  Temperature f:}\;_'%
(3) Acidity or alkalinity [
@) Optical densuy E}Q g
L Eym N
"2 ey 21

e
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Fires caused by burning of oil cannot be
extinguished with water. Why is this so ?
(1) Because oil will dissolve in water and
keep on burning,.

(2)  Because reaction between oil and water
releases enough heat to provide the |
ignition temperature of oil.

Because oil, being insoluble in water
and lighter than it, will float on water
and continue burning.

Because the ignition temperature of oil
is very low and it will keep burning even

when water is poured on it.

Which of the following acids (A-D) along

with its appropriate salt should be used to
prepare a buffer with a pH of 4.5 ?

1) A, K,=1x10-3

2) B, K,=29x10-*
3) C K,=1.8x10-5
(4) D, K,=23x10"9

Which of the following is an example of a
chemical reaction ?

Boiling water
Dissolving sugar in water
Burning wood

Crushing a can

A sample of concentrated HZSO4 is 95%
H,S0, by weight and itg density is 1.8 g/mL.
How many mL of this acid are required to

prepare 1 L of a 1N solution of this acid ?
1) 14 3 mL

(2) 28.7 mL
“) 57.3 mlL
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-
_ yhich substance is correctly matched with
e s storage container ?

1) Organic solvents, plastic
?) Acids, metal
() Hydrofluoric acid, glass
(4) Bromine, dark ¢oloured glass
g Which of these is a primary standard
oxidizing agent in a redox titration ?
(1) KCr07
(2) Mohr’s salt
3) KMnO,
(4) Oxalic acid
¥. What is the process of separating a mixture
of liquids into its individual components by
using the differences in boiling points
called ?
(I) Distillation
(2) Decantation
(3) Filtration
(4) Evaporation
0. What is the purpose of a bio-safety cabinet ?
(1) To provide a safe place to work with
biological agents.
(2)  To remove fumes from the air.
) To provide a place to store biological
agents.
4)  To conduct experiments requiring high
temperature,
L orAo]

| G
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"

What should not be

accidentally inhales SO 38 ?

(1) The victim should be taken at once to
an open area.

Let the student breathe deeply.
Let the student inhale ammonia

—
W 9

vapours.
The student should be given fruit juice
or lemon juice to drink.

What is the chemical symbol for sodium ?
(1) Na

(2) So

3 N

4 K

What is the SI unit of electric current ?
(1) Volt

(2) Ampere

(B3) Watt

(4) Ohm

What should a lab attendant do if they spill a
chemical ? ‘

(1)
(2)

Immediately clean up the spill

Report the spill to the lab technician /
teacher incharge

Both (1) and (2)

None of the above

3)
4)

Which gas is used during photosynthesis ?

Carbon dioxide
Oxygen
Nitrogen
Methane

(1)
(2)
(3)
(4)

24
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what does the term “flammable” mean ?
Easily proken down by heat.
Capable of conducting electricity.
producing a strong odour.

Capable of catching fire.

. Which instrument is used to measure the
fl .
mass of an object ?

Graduated cylinder

(1)

2) Thermometer
(3) Balance

(4) Bunsen burner

g, What is the most common type of fire
extinguisher used in the laboratory ?

(1) Water

(2) Foam

(3) Carbon dioxide
4) Dry powder

%. Sodium metal is kept under :

(1) Petrol

(2)  Alcohol
) Water

(4) Kerosene

Iy d test

- Which lab equipment is used 0 hol
tubes during heating ?

(1)
(2)
(3
(4

Pair of tongs

Tripod stand

) Clamp

) Holder
LABQME%%

|

§
|
|
|
3
5
§
|
|
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101, What is the pH value of a neutral solution ?

(1)
(2)
@)
(4)

102.

7
10
1l
14

What is the correct way to prepare 100 mL

of ~ 1.0 M hydrochloric acid solution
(MM =36.5 g/mol) ?

(1)
(2)

(3)

(4)

103.
(A)

(B)
©

Weigh 36.5 g of HCI and dissolve it in
100 mL of distilled water.

Add 8.3 mL of conc. HCI(~12 M) to
100 mL of distilled water.

Add 8.3 mL of conc. HCI (~12 M) to
~ 50 mL of distilled water, stir and
make up the volume to 100 mL with
distilled water.

Add 91.7 mL of distilled water to
8.3 mL of conc. HCI.

What is the purpose of a fume hood ?

‘To provide a safe place to work with
chemicals.

To remove fumes from the air.

To provide a place to store chemicals.

To conduct experiments requiring high
temperature,

(A) and (B) only
(A) and (C) only
(B) and (D) only
(A), (B) and (D) only

Ad

A0

26

102.

®

103.

GET IT ON
Google Play

Jo1. e faer 1 pH A F 3 4

( 7

1)
(2)
(3)
(4)

10
1
14

~1.0 M wEgiRiien T (MM =365 g/,
et % 100 mL TR HTT 1 TG e 13

36.5 T HC 31 35 ¢ 3R R 109,
3Trg e H el |

(2) W& HCI(~12 M) % 83 mL % 10),
aga s H e |

Hig HCl (~12 M) & 8.3 mL ! ~5,
agd Wit § free fead oIk e
% WY TG I 100 mL S |

(1)

(4) 83 mL WM HCI # 91.7 mL 3T

THemd |

Y31l g8 B R T Y2

(A) THEHA % WY HH HE F U E g
T YH %3 & fau)

(B)
©
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ich of the follovx;mg is an example of a 104, fiye & § F9 GaD qeref a1 3 ®?
i zo osive’ substance !
g S8 i;‘j : (1) <A
2 Galt i{: u: (2) HE
0 HydrOChl ac:a cid o) ag;‘naa’rﬁiﬁ ofTs
g water .::i | @
, You need t0 Prﬁpare 40 mL of a 0.15 M | 105, st 0.80 M T Tt A & Wﬂ@ﬁw j;i
glucose solution b‘}““takmg some of a 0.80 M 40 mlL T Tael &6 015 M
stock solution and Ehlutlng it to 40 mL. What 40 L, ¥R F & sTrevaERdl € | I Lieh
solume of the stock solution do you need ? Hrer 3 fepat A <Meg ?
(1) 53 mL o | E (1) 53 mL
() 60mL 2) 6.0mL
3 75mL (3) 7.5 mL
@ 12M 4 12M
5, Which of the foiléﬁé:\;r;ing titratidns is possible { 106. T H¥as w9 H AR ST
using phenolphthalein as an indicator ? frfafad § T HIF G ST H9E €2
(1)  Acetic acid 1 %ﬁh pyridine 1) uERfeT & @ wfafes TEs
(2) Oxalic ac1d“‘W1th NaOH (2) NaOH & Wl ik TfHe :
) Hydrocmgglc acid with aniline (3) THfeH % WY TR Uas
(4)  Sulphuric ¢ acid with aqueous ammonia (4) Tl ST W WY Yo TEs
L - |
. When ice conve%itﬁs&éto water : 107. S 9% WA H S S @
(1) femperahue is increased (1) ¥ SR |
(2) heat is absorbed (2) T SR et ¥
() heat is released (3) ST e ¥
(4) temperature is decreased (4)  THE S g
8. Which of the following laboratory srflfet}; 108. g;‘;s g:[ i LA
equipments is useEd to extinguish small fires ! 5 : é; T fipe ST
(1) Safety goggles @) m
@) Fire extmgmsher o)
(3) Laboratory “apron @ T Ty
4 Blanket W.
Lf\B.Z()23 Eﬂ%?; I”;} 27 i

(N
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What is the approximate normality of dilute ! 109. fagm 'SR?[TT?W'EI qd 1Al i Qﬂqlﬁamm

109,
acids in a science laboratory ? Hl ?g"\?,,ﬁ
(1) 1IN (1) ilﬁf
(2) 2N @ 2}
(3) 4N (3)9 %1
4) 8N (4) " 8N
! (O LR e T T e
110. For burns caused by steam or hot water, the ! 110. W9 & o et 9 A = T
affected part should be washed with : & =8 :
(1)  cold running water 1) e =gl gt
(@) ice (2 %
(3)  dilute NaHCO, (3) @3 NaHCO;
(4) dilute acetic acid (4 3 afew s
o (0 . 0]
111. What is the purpose of using a control group | 111. EiC ﬁﬁﬁi‘}l@m T T 9 UGN HA ©
in a biology experiment ? oYl @TE")
(1) To provide a basis for comparison. - (1) ﬁjﬁ:\é? o 3ER U ST
(2) To represent a larger population. (2) @ﬁiﬁ SR o Wit w3 & @
3) To test multiple variables 3) éji?sﬁ g | TehIfYeh =X i T &
simultaneously. g ¢ %“@Ql
(4) To ensuresafety during the experiment. (4) ‘ é'mﬂé# <A geen ghfred & % fae
112. When sodium bicarbonate powder is added | 112. ¥« Ufdfew e # wifeaw EIFEIEIRCAES
to acetic acid, a gas evolves. Which one of iyt <t €, < T g e 81 e
the following statements is NOT true for this fore frafafead 4 @ 5 w1 woF owd 87
gas ?
(1) It turns lime water milky. (1) agqﬁ%m:ﬁﬁirwaﬁ-{aﬁ%l
2) It extinguishes a burning splinter. (2) ‘qg;qg STt T Bie 3 &l ikl
(3) [t dissolves in a solution of sodium (3)‘: ﬁ%?@ﬁmq TESTFES & Wi Foa
hydrOXide. Pt %‘.';;}lh
“) [t turns acidified potassium dichromate (4) % Tefrem SRHHS o el
solution Breen -:F“{ R
oFiC N P
ﬁ"rﬂ 28 ! °4 a3
ap20238% 4 G


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

e

7

Adda

GET IT ON
Google Play

whifh of the follo:)\/vigg is not a safety | 113, ﬁqu@aﬁ@qﬁqmgvﬂmmﬁﬂi&ﬂmw
11.

Pn‘m“ﬁ(’“ in a lab01'§1f?§)7 ?

) Wearing gloves™

B Wearing safety_ggg:gles

@) Wearing a lab coat

) Eating and dlu}kgg in the lab

Washing soda is the c¢ommon name for :

n =
(1)

Sodium carbonate -
) Calcium bicarbonate
()
(4)

Sodium bicarbonate

Calcium carbonate

5. Aqueous solutions of the sﬁlphate salts of
three metals X, Y and Z are kept in three
separate beakers. It is found that X reacts
with both YSO, and Z?SO;E solutions, whereas
7 reacts only with YS@E?Soluﬁon. ‘Which of
the following is the correct order of reactivity
of the three metals ? =~

1) Y>Z>X . S
0 x>z>Y NI
B) X>Y>Z §‘§
W z>y>x 1

16, Assertion (A) : For preparing sulphuric acid

solution, always add the acid to water very
slowly while stirring vigorously.

Reason (R) : A great amount of heat is
liberated when sulphuric acid is added to
Water. i
(1) Both (A) and (R) are true, and (R) is
the correct expler&a‘l;ion of (A):

Both (A) and (R) are true, but (R) is not

2)
the correct explanation of (A)-
(A) is true, but (R):s false

(A) is false, butZR):is true.
)

on

(3)
(4)

by, B3E
82023‘61,:)%2

|
|
|
|
|
|

29

114,

115.

116.

T 7

TEM el

TR <A Je Al
AT SRl Tl
SeiTae @ S

feerm aEHETE

aﬁu@aﬁx,yafﬂzéw@?éwﬁ%wﬁa
foyorl Y T STeNT-3TerT Siiehdl § Tl Wl €|
27 7 < 26 X, YSO, 3R 2SO, T faerari
¥ Ty sffEar I €, Sefh Z Fad YSO,
forerr 3 Y Tl sar ¥ 1 frfarea 9 9
FF | 2 urgett S tfufsraniien w1 9§ A
77

1) Y>Z>X
2) X>Z>Y
3) X>Y>Z
@ Z>Y>X
AFUHIT (A) : TR Ui st SR O F

fere, Tftre =t & g s ey ol iR AR
feemd gu fyemd |

FR (R) : 5 H e sy frem o 7
HE S o B
(1) (A) 3R (R) 2 g 4
e s %, 3R (R), (A)
R (R), (A)
) :q—és%;lﬁ%' (R), (A)
A) 99 T, A
(R
(4) (A)aa%,@@,-_‘m;;‘:‘?

P6
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117, Which gas is the most abundant in the Earth’s | 117. H%ﬁ
A . C ,"l O A

Tae?
atmosphere ? ) E ;, Qﬂ
(1)  Oxygen ) ;a Q
(2)  Nitrogen y o) %ﬁé et
(38)  Carbon dioxide N SIENIES
(4)  Argon (4) j@_"

118. Soda water contains : 118. Hrel a@ag e €
(1) Citric acid (1) FElgF s -
(2)  Sulphuric acid (2) {f%(% EQl ?I\_!:I"IH
(3) Carbon dioxide (3) HEF SRS
(4) Nitrous acid (4) -TEEY a5

Read the following passage and answer Frefefen s =y UG 119 - 120 U9 & I
questions 119 - 120 : ?{Tﬁ'q H

A solution of hydrochloric acid of concentration { HZdl ~ 0.1 mol dm=-3 ¥ TESIRAN 37T 1 [ENEY

~0.1 mol dm~3 was prepared. Before a class | IR faan e Y /A 5 i ey 39 foerm =
attempted a practical using this solution, a { S9gyT EF@?REE‘I% WIS T Y Th TR 3
technician standardized the hydrochloric acid with Tifsam wEe

sodium carbonate solution. The technician EIEEAET| @Eﬂ\g mﬁﬁﬂ E| 1.06 T ey H‘Tf;éﬂ'q
§ Al
dissolved 1.06 g of anhydrous sodjum carbonate { SHTSiHE I YA

THLH e 100 mlL =7 S 1 T
in water and made up the solution to 100 mL. A | difeay [He'ser % 10.0 mL fe= =y Tsh ViR
I § MR e 1) e

i
&g
:
3
3

10.0 mL portion of the sodium carbonate solution

with hydrochloric acid.
119. What is a possible titre value of the titration ? § 119. g YA & o u
: A Bl Heha
1)  10.6 mL B, MREIRRCIE R T
(2) 95mL (2 95 mL
(3) 152 mL 3 () 152 mL
() 211 mL 4) 211 mL
120. Which of the foljoy;, . X ,
& Combingt; Hhas
indicator and colour Change is COr:le::)?S of  120. i aﬂ-{ -;T? kil ﬁwﬁ;‘f@a ﬁ ﬁ aﬂ—'{m
(1) Methyl Orange, Orange tq yellow ! QHEQ .
(2)  Phenolphthaleip, . " e (1) et st ey dren
(3) Methyl orange, Ourless 2

yellow to pink (3) Qﬁil ]\j‘; E ’ IIE”dl ﬁ a'{'l"[
(4) PhcnOlphlhalein, coloy ( ) ylad
(4)

Al 00 0 -
L AB-2023 5747 | - R

pis /]
N D
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